}

.

22

The wavelength of violet colour light is

about ___ .
(A) 10-11 pm (B) 1-10mm

[(c) 455- 390 nm [ (D) 230-310pm

Butter is an exampleof a
{A) suspension
(B) colloidal solution

I

{C) emulston I

Q3

Q4

Qs

Q6

(D) amalgam

Which of the following salts will NO'T
have U molecules of water of
crystallisation?

(A) Glauber’ssalt (B) Washingsocla
{C) Borax (D) Epsom salt

Who founded the Allahabad University in
18877

{A) Dr. Sarvepalli Radhakrishnan

(B) Jonathan Duncan
[€C) SirWitiam Muir |

(D) Madan Mohan Malaviya

The first woman Chief Minister’ was
appointed in 1963. Which Indian/ state
government did she lead?

[(A) Uttar Pradesh [(B) Tamil Nadu
(C) West Bengal (D) Assam

Who was elected as the Chief Miriister of
Uttar Pradesh in 20177
A) Govind Ballabh Pant
B) YogiAdityanath
‘(=) Akhilesh Yadav -
(D) Mayawntl
Whlch of the following is lhe
OfUttar Pradesh?
*_Parrot :
“ingfisher

state bird

(B) Eaglc
|(D) Cram‘-!l

Ql

Q2

Q3

Q4

Q5

Q6

Q7

GENERAL EENOWLEDGE

TR Jr @ Fenyr AN R ST
— Erm#)

(A) 10-11 pm (B) | -10mm
[cc) 455-3%0 nm] (D) 230 -310pm

qARTA &HT IITEWYT & |
(A) Fds=
(B) mEmzga v
(C) 9™
B[O

=1 3 @ o wrgor W fibreoR 9 B

10 9] 7EI EI?
(B) T AT

74) AR Hive
) aREd (D) T wiee

af 1887 T genETEE favafdered @)
wIryEr feas @) efi?

(A) Sf. wducell IHEwH

(B) STARA S&

[(c) ¥~ Riferm T=x |

(D) AGHIES HIoag

ggelt g geas= af 1963 3 Age
2 7S off | TR B kAT 5T WO

1 e T en?
I(A) Ss= gewr | (B) wfermg

(C) W= S (D) s

af 2017 ¥ SR WSO & AR B wy
@ A TC AP
Mfd= g 91

e

(C) RSN TrEy
(D) TSt

Frafafaa § R IR T=20- BT v o

w87
(B) Iy
|(D)'!frml

(A) 8RN
() miRvaE



/Q8 the vear 1937 - 19507
: (A) Utara

/ [(B) United Provinces |

(C) Unar Province

(D) RamKrishna Pradesh

Q9 The Kailash Fair is celebrated in honour
of Lord Shiva in which city of Uttar
Pradesh?

(A) Agra

(B) Varanasi
(C) Kanpur

(D) Lucknow

Q10 Which of the fallowing is the longest canal
of Uttar Pradesh? ~
(A) AgraCanal
[ (B) ShardaCanal |
(C) UpperGanga Canal
(D) Lower Ganga Canal

P 8 Qll in which year did Uttarakhand come into
E existence?
' [(a) 2000 ]
- , (B) 1991
Sy (C) 2016
& & (D) 201!
. S
¥

912 In 1930, CV-Raman won the Nobel pri;i:
o for

(A) Litgra e -
I(C) Physics

: G
Q13 ,Wigch book by Vikram Setfiis collection
fv"f‘a‘,'.;fat.’l"s as poems?

(B) Peace
(D) Economics

1A Mausic

. 1
- What was Uttar Pradesh known as fron

a9 1937 | 1950 TH S a7 3 fy
A A ST S e

(A) 95T

i | B)_SrraE 91d |

(C) I UK

(D) 3\ F91 4o

Q8

Wﬁwﬁﬁiﬂ‘ﬂg’\’ﬁ‘ﬂmﬁmi
e & ST e AR R a

4

QY

QIO SR YU § HaW A4l T&X Bl &

(A) FTRT eX
[(B) TIRET TN |

(C) BT T AR
(D) Frae T AR

Qll T‘f fha od ik # amay on?
(A) 2000
(8) 1991

(C) 2016
(D) 201}

Q12 1930 ¥ WA, w=

RS TR Py oy
A) ey (B) Wy

(©) TP =1 (D) arefemey

T P @ e
W ‘ﬁ%ﬂﬁmﬁ?’?

_ B




ame the last poem wrnitten by
{arivanshrai Bachchan.
AY Ek Novermber 1984
(8) Chal Mardane

(C) Do Chattane

(D) Agncepath

The blond group system was discovered
by :

(A) Friedrich Stromeyer
(B) Karl Wilhelm Schecle
(C) WilliamMurdock

[(D) Karl Tandsteiner |

015

iS a computer worm that
targets industrial control systems. [t
attacked lran's nucledr proeram in 2007.

(A) Conficker (B) Stuxnet
(C) Zeus (D) Sasser

J6

Q17 The strait between Tamil Nadu and the
Mannar district of Sri Lanka is called

(A) Straitof Malacca
[(B)-PalkSira_|
(C) Sunda Strait
(D) Maliku Kandu

Which of the following slates of United
States of America does NOT share a
boundary with any other US state?

(B) Alaska

(D) Maryland

QI8

(A) Florida
(C) Rhade Isfand

Ql4 - eRaEWRU a5 gl ford) d s wfdar

&1 TG ?

(A) ©a TavRr 1084
(B) u& wRaT

(C) & mgrt—
(D) ffaer

Q15 7o R yoreh B @
3l of
(A) WeRE Wiy

TS HgeR a4 & il e
fra ra 1 5 onell BTN A 2 gE
2007 T XA @ TRATY FdEHH G ITHIT

QIé

feam o
(A) miafsax B) ®FHC
(C) wqH (D) W

Q17 dftemmg 3 sitde & w=R R &
dra Mg oWl Y HET T
gl
(A) TATE WASHGAEL
|(_5)'tnm TACAGR
(C) G ATSHGRT
(D) 7 B

QI8 il & A IR o1 R 3
ejmmmﬁﬁmzﬁmmaﬁm
&7
(A) FARST (B) P
(C) ¥ amsaes | (D) R

]

QI9 ey @ A0 FaR P ey,
a1 &7 s
(A) iFESRRR Qi
(8) prafie

(D) FRS FOUER, .,

¥
y““ 31, 2 i s

i e v
2 e y

IR g S
e~ =S
L




ich of the following is N(?T on: ofthe
" -“n::alcs of United Arab Emlrétes

:\) Museal (B) Dubz.nh

(C) AbuDhabi (D) Sharja
Q21  Which onc of the following is the capita |

of Bahrain?

(A) Ankara (B) Doha

(C) Manama (D) Beirut
Q22 wasthe first woman speaker of

the Lok Sabha.

(A) Sushma Swara;
(B) Meira Kumar
(L) Pratibha pati}
(D) SumitraMahajan

Q23 The Sepoy Mutiny of the 1857 War of
lndeendencehappened in

which cipy?
(A) Jhansi (BY Hderabad
(C) Deli_\i (D) Meerut

§1056d

Q24 The traditional spack ‘Khandyi’
associated with which Indian state'y

(A) Gujarat (B) Karnatak;;
(C) West Bengal (D) Bihar

is

Q25 Name the first Hindi-lan

of India, first published
“(A) Dainik Bhask
I(B) Udant Manana;_I
(L) Patrika

5 (D) ljcshbandhu

guage nevwwspaper
on 30 M:;.y 1826.

3

% Which'osf the
seediya

-yielding
ariety
Orce

tributed (o

1YY g
QR PAENEREEY L, Sy - %

(1) AEhC (B) T+
[m (D) ISR

Q21 Pl # & B 1 My wx,
AT B?

(\) AN (B) &
|'(C) 37T | (D) =g
Q22 Uee HRAT Ay
Jemer ot |
(A) A
(B) AT HAR
(C) 94T uried
(D) gH=1 #eeE
Q23 W Tar W 1857 @1 Riard) Rgkf
AR H gA;T or?
(A) SR B) SRS
(C€) R (D) ¥s
Q4 R SR @t Ry AR T
q W 27
(A) TommE (B) wAfem

© R e () farr




yprepared the initial deaft of the Indian
nstitution in February 19487

) Beohar Rammanohar Sinha

(B) Nandalal Bose

(C) Shyama I'rasad Mukherjee

[(D) Benegal Narsing Rau |

i Umaid Bhawan Palace is in which city?
{A) Udaipue (B) Jodhpur
(C) Musuru O) Jarour

y Lavani is a famous folk-dance form of
whichIndan state? >
(A) Uttar Pradesh |(B) Maharashtral
(C) Sikkim (D) Tamil Nadu

) Which was the last year when the Rail
Budget and the Union Budget were

presented separately in India.

L(A) 2016 | (B) 2012
(C) 2008 (D) 2nn4

I' Who was the tirst de facto Governor-

' General of India fom 1773 1o 17857

" |(A) Warren Hastings
(B) Lord Minto
(C) George Watson
(D) William George Wallker

12 The Investment Information and CreFiit
4 Ra"ng Agency (ICRA) has HS

headquancrs in

B ~ () Mumbi (B) Bengaluru
aé (C) Gurugram| (D) Chennal
ﬂ 3T

-)

I’
lndfan Govemnment has madetourtsm

'J"egli {n Which of these islands?
(A)il’mslm Island.
mba lslend

Q27 wxad 1948 ¥ WA wANH & WRHE
e @ Fan R fear on?
(A) aiER AFsAer e
(B) *iRAM a4
(C) TTHVATR
kD) TE ik 4]

Q28 IR A YA [ TER A fa 87

(A) S8IQR (B) INT
(C) *g® (D) TAYY
Q9 @Rt fFw wrd wed &1 ufyg
AE-Ta 87
(A) IR 99T [(B) WERTS:
(C) Rifdmw (D) O g

Q30 8 @ w1 Jfm v o, F@ YRS ¥ ¥F
que AR DT IO HFAT-IAT TR

fveg #rar ar?
[(A) %016 ] (B) 2012
/) 2008 (D) 2004

Q31 o 1773 ¥ 1785 TF T WRI B YEA
TaRARE T A
(AjaRABRe-
(B) fs fifet

(C) Wit areas
(D) Rfearn S dieR

Q32 fdwi TR 3l e YT T (g,
Wary o g A
(A) T (B) ¥T®
(C)_T¥m (D) #=7§

Q33 WRd @R A Prafefad & @ frw gy
ﬂmmmﬂmga
(A) ¥R g 5
(B) 1 g
(C) ST
D)




The lirst civil aieport of which Indian stale
was inangurated on September 20187

|(/\) Sikkim (B) Mirzaram

) Nugalan'd (13) Manipur

Q35 The firstDefenceMinister of independent
India was ——
(A) Kalash Nath Katu
(B) VK Krishna Mc¢non
[(C) Baldev Singh
; (D) Yashwantrao Chavan

Q36 The island which has Sardar Vallabhbhai
Patel’s *Statue of Unity " is located in which

river?
[(A) Narmada |  (B) Sabarmati
(C) Tapi (D) Mahi

Q37 Pollen is produced in which part of the

flower?

(A) Ovary (B) Owvule
1 |!L‘! Anlhcrsl (D) Pistil
3

Q38 Which bacteria arc oval-shaped or

spherical?

{A) Escherichilacoli

(1) Coccus
- () Bacillus

L (D) Vibrio

P, -
Bk
‘.‘:':.

. ¥
' v

A

Q35

Q36

Q37

Q38

Retar 2018 i Iha yradya wom 5,
stprfeen e an Sy togy o,
vf?

(A) Tofdas

(15) fersrm

©) “umave (1) sy
RIS @& YA @l g
(AY dan =iy WY,

(BY VK @Y §-11

»

(C) yeey iy

(D) ATIRE TH[I[

TRER TS Ued &l 2T U6 G747
fha @d1 IR RerT T g9 93 87

(A) = (B) a=d!

(C) ard (D) A&

T & f&e fBwd a4 gvm @1 Senes
®rew &7?

(A) pleTm (B) drH03

(C) TRm®ET (D) qm-a1f4

T | WAV, IFTER A MARBR ET
.14

(A) TIRfRm FEar

(C) aftera

(D)



ilerbought 7 articles for¥ 10 each, 9
es for ¥11. 14 articles for 215 each.
d the selling price per anticle if the profit
upposed to be 20% of the average cost

(B) 215.20
(D) 21528

(C) 21524

A and B can complete a task in 12 days, B
and C can complete the task in 16 days, A
and C can complete the task in 24 days. In
how many days will they together

NUMERICALABILITY

039 '\F G R A 210 B R 7 TGV,

BN DR ATy, TSH WA 14
T @l | afy v [ qow o o,
afe a1 S @ s oftea dma o W
20% 1 g1 wifey |

[A)z1s.16 | (B) T15.20

(C) 715.24 (D) 715.28

Q40 A 3R B 12 oAt § u& M QN1 N

e 8 Bak CT& &1 16 A § g1
Y Gad &, A 3R C T8 & 24 AT F
W TR Tl & d dF) Ao a8 #14

complete the task?

fram R & g &
(A) 9.33 (B) 9.67 (A) 9.33 (B) 9.67
(C) 1033 |(D) 10.67 l (C) 10.33 |(Dl 10.67 _

A man completes a journey in S hrs. He
travels first half of the journey at the rate
of 21 km/h and the second half at 24 km/
h. Find the total distance travelled.
[(A) 112km | (B) 116km

(C) 120km (D) 124km

Q41 U At s uE ¥ U AT GO Fwar 8|
T8 T & Y& 3 W A 21 km ¥R
e @ R W 3 R amY A A 24
km/h @ Tfd @ aET wxar &1 aEr &

Tl T Cad I
[(a) 112 Kmi (B) 116 km

(C) 120km (D) 124 km

Q42 {1 Yamfal # 7 T aFuw 5:6 ¥

TAYEE 5 0 W 450 km 99 It
e YeT®) @ fy @ &9

2 The ratio of speeds of two trains is 5:6.
The second train covers 450 km in 5 hrs.
Whiat is the specd of the first train?

(A) 60 km/h (B) 65 km/h (A) 60km/h  (B)-65 km/h
km/i ' . (C) 70kmth (D) 75 km/h
(© 70kmh Ty 75 kb ]
43 The length of a rectanguiar plot is thrice Q43 TT MATDR YT B A THR Hhgrd

R AR ) @S T TS 268 me
s @ qfg S |

AV 120 m (B) 124 m
© 1520
3 3 B T T ABCR R A e
A TR, B 34T W@, T T C
R0 R B 1 T G B ABCABC wy
¥ g fran T A 3 7, 11 3R 130
A “‘“‘i’ff e Reat

L B! ‘ 3
[(A) ABC ] B cBA

(D) AAB ;e

its breadth. The area of the plot 768 mZ.
| Find the perimeter of the plot.
| (A)120m (B) 124m

- (D) 132m i

A 34digit number ABC, where A is at the
hundfedih place, B is at'the tenth place
A ﬂandC is at the unit's place, {8 so-writien a5
R ABCABC and is divided by the LCM ol

L @ilind 13, Whatwill bedhe result?
(B) CBA - .{,;t

Q44




Which digit can replace X?
Y I (B} 2 I

(C) 3 (D) 4

Q46  Find the product of the squarc root of 256
aned square root of 16 and then find the

resull’s square rool,

(A) 4

C) 8

) 6
(D) 10

Q47

Two chairs and a table can be bought for
2170. Five chairs and four tables can be
bought for T530. Find the cost of a chair.

(A) 240 [(BYZ50 ]
(C) 260 (D) 270

Q48 X has a balance of 290.53 in the bank
account. What will be the balance left after
a deposit of 67.14.and a withdrawal of

g 270.167 -
e
g (A) 286.51 [(B) 28751 |
(C) T78.51 (D) 37951
, .~ Q49 The HCF and LCM of two numbers is 2

A - and 72 respectively. The bigger number is

2 more than twice the smaller number. |

Findthe smaller number,

(A) 4 (B) 6
(C) 8 (D) 10
i 12 x 3
QS(_) ff-; 10" '%,E,ﬁndlhcvalueofx.
y L ¥ R (B) 15
}(c) 16.5

(A) 288
(C) 360

Q45 A S-digit number 247XR is divisible by 44.

Q45

Q46

Q47

Q48

Q49

Q50

U 5 3eh) &) WEAT 247X8, 44 9 fovyf s,
&0 &) @ W 3F X B ufirenfay
) &7
(A) ]
() 3

B) 2
(D) 4

256 % YA 3R 16 B T B oy
i R fEY wRum & gfge 4
T T |
(A) 4

[ 8]

2 gfidt ai 0@ A9 170 4 @08 @
wed &1 ufg R 3 ur o oS
i @R @ g&d &1 TF El B e
I N
(A) 240
(C) 760

@) 6
(D) 10

(B) %50
(D) 70

X3P UH I@ G & 290.53 31 W £
267.14 @\ $I 3N 270,16 B FEE
@ ae 9w ufd ur sd?

(A) 286.51 (B) 28751 |

(C) 778,51 (D) 279.5!

QY Gl @1 wevw amvadas Al
YA G w2 AT 99
Heam B wean @ Y A § 2 I B
&) wEn s B

(A) 4 (B) 6

() 8 (D) 10

(A) 12
() 16.5

(B) 15

I(D) 18 |

Qs

800 @ 85% @ 120% & 40% 3T Y|
(A) 288 (B) 120
(C) 360 (D) 400

Wrong Options



153

354

Q55

=% g

056

If an arbule was hought for 2300 and 4
repairing charges of TS0 was paid for il
and it is supposed to be sold at a profit of
20% profit on the marked price which is
10% of the cost price. Find the required
selling price (in ).

(A) 40 (B) 452

(C) 462 (D) 478

R~y LA

What is the total percentage discount
applied when 2 successive discounts of

20% and 10% are applicable.

(A) 25% "'(T)"EB‘%
(C) 32% TD)_E/j

Find the rate of interest if the simple
interest on a principal of T1.000 gave an
interest of T440 in a span of 5 years.

(A) 8.4% (B) 8.55%
(0) 8.5%

Find the time for which compound interest
of 2331 was gencrated on a principal of
Z1,000 at an annual interest ratc of 10%.

(A) 1 year (B) 2 vears
(C) 2.5 years |(D) 3 years |

Three pariners, A, B and C shared profits
inthe ratio 4:5:6.1fC’s share of the profit

~was 2200 more than tha A, find the tolal

srofit generated by them.
(B) 1,600

(C) 21,650 (D) 21,750

Three parners, A, B and C shared profits
in the ratio 2 : 3 : 4. A new pariner D
joined who took halfof lhe-shares 'of each
Aand C.IfD’s share of profit now is 2100,

find the total profit.

(A) T200
(C) 2275

(B) T250
(D) 300

52 ufe v g 2300 W i af A ww

Q353

Q54

Q55

C(A) 1 af

Q56

‘e

g 2SO wema & en A erd 62 12 AR
F9 AWt A WY 20% A TY 41 ST
w9 fb owran Yo @ 10% &)
3T ) g @ 4) srer w

TCH—(A) 440 (B) 452
ﬂl (D) 478

ar] &F1 ared) ga ulfa g2 901 & 7
20% 3R 10% F) @ ATER I Ar| @)
Sl & |

(A) 25%
(C) 32%

(B) 28% |
(D) 36%

@ X S . 919 T,000 % T I
5 T @1 qafe) § WY @ T440 917
wim &)

(A) 8.4%
(C) 8.8%

T8 @rarafd B o & frad 71,0005
g I AME 10% Ara o 4§ T334

T THYfa IO I BT AT
(B) 294

(D) 3T

(B) 8.55%
(D) 8.9%

2.5 a1

dlf AeeN, A, B alR C4:5:6$-37§'Jra
am &) aft e i CaRem A
W g F 2200 3T & a1 SF gny
T HE T T DI |

[ayzis00 ] (B 21,600 ,
(C) 21,650 (D) 21,750

Q57 #7 WP=R A BIRCH2:3:43

arard § o ST U@ T4 WIRR D
P gan Rrerd ASIY CTF B Ja3)
n R} N fewm fw ) aRk I F Day
fecan s 2100 8, @ T a9 5T &Y

(A) 2200 (B) €250
(C) T275 |(D) <300 I



e ol the Tallowingoptions corsts

[ acho . )
Q58  of watdds. Chuoase the bes) pair to

“‘ 1'.[" i .
ratch with the pasr i the question.

Dactar + Nuise
v (A) Judge @ Lawyer
[LH) Owner : Stall’ |
(€) Chet :Whaiter
(Y Enpineer @ Driver

059 Select the alternative that is related to the
(hird term n the spme way as the second

w18 related to the first term.
PORUTS 2 LMN 2?2

(A) OPQ - |§nj §wo |
(C) NML, () QO

QB Find the alternative that can be a member
of the given grouplclass. |
Pathology, Radiology, Cardiology .

(A) Biolopy  (B) Geology
I(C) Zoology I

(D) Hemaltolopy
Q6! Find the missing number: © -

CWw

1,8,27,64,7
[(a) 1257] (B) 135
(C)ﬁ 145 (D) 155

Q62 Find the missing number(X and Y) in'the
series and find the value of V. X
"25.26.28, X, 35, Y. 46

(A) 7 (B) 8

Q58 TwaldiRay Raeal W wde 0 ge)

059

Q60

Q61

Q62

old 1 uer i RY AT OIS N N7
ISURCICRIC T

direw W

(A) Wit @ quile

(B) W forar : HTaR

(C) gl : a3
(10) FAFR : TRTaRS

au [aet @1 77 @Y o) R g
B tRE wafRd & R aE Tow
T g A wafa
POR : UTS 32 LMN :2

(A) OPQ [ aro |
(C) NML () PQO

U ey & sd & o o
W /@ o AT B
Y frsm, efiv s, geamiiam

(A) Nafdsma @y pmirE

(C) wivr fsm | (1) sfRsE

. 8,27,64, 7
(M5 ] @ s

(C) 145 (D) 155

i T HEY (X ok Y) g8

IR Y-X T A1 g o
25.26.28, X, 35, Y, 46

(B) 8
(D) 10

(C) 9

Q63 ﬁ@mﬁmmmgﬁvmﬁqﬁ@a

(C) 321320«

¥ & srquw B
323,324,32112,3248 32 240,97

(A) 32 1200 |(B)' 32 1440 I

+.(D) 641440
o ; 3

i
|




J Vil the missing value in this series:
C2BA, I't4D, 1HGS, ?

(A) JIOKL B) L16KJ

(C) MIGNO (D) OI6NM

66 Which pair tn the options will complete
the following series:

Ao JLT
(A) DY | (B) D, Z
(C) EY (D) E. X

367 X bicycled 15 km north, then 20 km 1o
his lefi. At least, how many more kms does
he need to bicycle to return to his original

position?
(A) 35km (B) 15km
(C) 20km (D) 25 km

Q68 Two cars start froma common point, The
1st car travels north 10 km, turns leftand
poes ahead for 8 km, The 2nd car goes
south for 3 km, turns right and travels 8
km. What is the distance bewtcen the

cars?
(A) 5km B) 10km
(C) 8 km (D) 15 km

%9 X walks 3 km away from his starting
point. He turns right and travels a further
8 km. He turns left and walks ahead, but

notices that he is in the opposile direction
of what he is supposed to be in. He started

by walking towards east. In which
direction is he supposed to go?

A North (B) East
'g.;'.sgLWcsl | (D)Sou%]ﬁ
0 ){.ft;avels 5 km ngidh, dims JBR and
31 covers 7 km. He Jficftums right g™

travels 5 km. In which direction is he
,ﬂ,kiﬁ;»‘-l = 5

Nodh i) Esst

frr fem ——

Q65 9 4T & g@ N W
C2BA, FEAD, IHGS, ?

(A) JIGKL [8) Lisk)
(C) MIGNO (D) O16NM
Q66 Rewt ¥ I gm Frfafeaa sjaan
B T HT?
< PR
(A) D, Y (B) B,z
(C) EY (D) E. X
Q67 X A 15km Jarx q 3R fhw am a7

AR 20 km W3MAe TATE| 99 97 ¥A
WA a6 9591 @ fIU 39 3 39 3R
forr fheriter wRfRa Tam & Tova
a7

D (A) 35km
(C) 20km

(B) 15km
(1) 25 km

¥ oR ' Svafie g @ gw el
qEe T Sk B oa)E 10 km @) qrAw
el &, 910 geah 8 AN 37 8 km AT
g1 T SR S km AT B WG T
2 3W ged € 3R A 8km B TN
T &1 99 Ft & dig 3 g g 87
(A) Skm (BY 10 km
(€) 8km (D) 15km

Q68

Q69 X I grwamdl g | 3 km.gaar @
TE T g 2 R A 8 km @t @t
@Al &1 9% a0 el & 3R ) geren
¢, M I eI orer @ b 7% 9w
R @ fagdi feam # & Rred st &y
RN ol | I qF & TR oo )
ot AT e?

&y

Q x.s(ma%aﬂmm%,ag -

T m%%mnmm%nmg

vagmm5km3ﬁmm

B 8 5w fom A o vy &2
(A) TR

- {C) em

L%

§5 gt




an A statement i PIVEN DCIOW, 1w vy
i o conclusiounss 1 and 1L You have o
consider the statement to be true even ifit
seems 10 be at varinnee with commonly
known faets, You bave to decide which of
the given conchusions, it any, follows from
the given stitements.

Statemient : Compuny ABC has warkeied
the product with the following slog “Go

ahead; purchase i1 the price wnd quality
are your cosiderntions”,

Conclusion 1: The price of the product
must be high.

Conclusion 11: The product must be of &
% i goad quality.

(A) Only conclusion ] follows
(B) Only conclusion 11 follows .
(CyBoh Tand (1 follow

(D) Neither | nor 11 follows

Q72 A statement is given below, followed by
two grguments, 1 and 2. You have to
‘consider the statciment to be true even il'it
1 seems to be at variance with commonly
Iknown facts. You have to decide which of
{_t‘he given arguments, if any, is strong and

?uppons the given statements

51056d

IS .!ﬂclpcm : Should taxes be abolished ina
o2 Seveloping country like India?

§ a0 e
I 1: No, laxesare a good source
r the govemment o take steps
: 19pment of the country.
O iy 24 Yes, dhese taxes are NOT
s e PLENIENL. S reng 5
VIR s 1% $tre

Q72

e - . l:‘] ﬁ"ﬂﬂh
fie 112G R S $H g o

gk ey e, ad B as am by -~
Gt g2 A MEN W Qa8 3
ag au aet (1Y R 4
anarn (e, Al B 8, Ry 1y gy
M1 AFIREL WL B |

thvle]

N ABC Y =i = 3
Uy

et g @ faem fan g
A wdy A W iR YU ITTH
wim@an & W 30 wE

Prepd |2 Sourg O WiET Y :&rﬁ)zﬁE
gl |
Praid 11 : SR B UEge TR FD |
il

(A) oo ad | ARV 6l
B) @wael Frad (| arFRRY @l &

AR 11 el SRy wed &
(D)= & 1R 71 & 1] SFTeo S E |

A v B iR suS a8 4 . |
alr 2fau T F | gy 3w A @
e WAL BT, 4R &) g am dR W
S TR W e i g @ | I
T5 T @ & e iy o e A 9

T T, afy T R, fon o A W
TR BT B |

——

P - 7 RGN Rarada 3
WX B WA fEm S nfee?

T 12 T8, T 1 R TR 2T
Tﬁrmmﬁa‘rmmsm?ﬁ‘ﬁ}
ora ¥y 2
T 2180 g o & S T
T B fie 38 fHar s -
[(K)mm%tm%‘]

(C) T 1 MR 2 B Horgw #
(D) 7 7% 1 oIk 7 @ ad 279 ©



73, oA % UF i IR oE@ are & st
¥ 1 3R 11 Ry wu # | A §8 AT
% wea FA @Y, 4e & g€ am i
® o gl @ e gdid &% 8l
TP 7€ Ta TIA & {6 faQ s
§ ¥ P Ad, afe % FRT T

'wo statement are given below, followed
by three conclusions, I, 11 and III. You
have to consider the statement to be true
even if it seems to be at variance with
commonly known facts. You have to

decide which of the given conclusions, if
any, follows from the given statements.

Statement [: Every man should have his
identity card with him

Statement 2 : That card should mention
his blood group, complete address and
telephone number for contact, in case of
emergencies.

Conclusion I: Blood CANNOT be

transfused until its group is mentioned in

TRl BT AT B E

FUA 1; YA fdd & ud 9T 9gaA
g3 g Fifgu

FoA 2. HIURFIT B AW ¥ 3G P18 H
IGT! W@ O, QU B U o aa
AR AT TR FSwd B S
e |

* fYRY [ Yo 09 9@ WM al fedr o

THAI, W@ 6 HIE H IND W

the card. Sear 78 fbar mar 21
Conclusion 11: No one is supposed 1o Freed 11 faed) f oRRefq o & &
forget his phone number under any q T BF TR A YT ARV

circumstances.
Conciusion [1l: The police needs this

: Chirp :* Bear : 7

i

Presd 111 : 2} @i ara® & & gfew @t
T8 SREN B naEsd gk 8l

l.
L5 ;"

information if the injury is fatal. (A) DT TP TIHFET ey &
(A) Only conclusion  follows B) Ba0 Y 11 AHYV FXar @
(B) Onlyconclusion I follows (C) #3 Fr=pd 1L 3FRRT Feerl 8
| (C) Onlv conclusion i1l follows | T_j T A Pl ATITAROT qeT vl
(D) None of them follows
14 Which of the words CANNOT be formed Q74 “CARABINER” I & 3R §RI dYA<1
by the letters of the word ug e AT Ry < &7
“CARABINER™? (A) Crab [(B) Nine |
(A) Crab ] (B) Nine ! (C) Bare (D)) Rice
"(C) Bare (D) Rice
175 Which of the following words does NOT Q15 famfaRea 1&1 A 4 59 I8 & wR
have its vowels in an alphabetical order? IS o wArTER T8 27
} A) Aerious (B) Materious (A Aerious (B) Materious
E (C) Jmperious | (D) Facetious [(C) Imperious | (D) Facetious
&76 Selac[ the option that is related to the third Q76 B¥ Raey o1 aq71 & AN TN 12 B
- word on the same basis as the second T YR | W & R SR 9 wewr
s Vl°fd is related to the first word. TR T IR W Aafa 8|

- UEl: wEuEEe ¢ Wi : P

< wr";‘ (m Gibber. % FE(A) T B) TTTTEL @

27 b A
C R 35 25
TRt | .




(77 Which of the following cubes in the

$10S6d

answer figure CANNOT be made on the
basisof the unfolded cube in the question
Ngure?

O

¥

Read the following information to

answer the given (Q78 to Q80)
guestions.

Following are the conditions for issuing
a passporl,

A) The applicant must be bom in the
country or be marricd 10 a citizen of the
country,

B) The applicant-should possess the
unique identity card for proof of name,

address and age.

C) The candidate should produce 12th
pass cenificate {oreducation proofl ifNOT
a minor,

D) A minor is under 18 years of age. A
minor should possess the unique identity
card of either parent.

E) For reissue of passport applicant
should submit old passpon, For fresh issuc
applicen should submitaflidavit,
Howeree, in casean applicant who fuifiits
all othwer criteria EXCEPT-

/A rbave, incasothonp licant was bocn,

¥ applicotion.js
oflice.

oulside the coyntry,

Q77 Swr PR A frw T B I Ay

A B §U TR B IR R T8 T o
qEHar 7 g

O]
w| O

© D)

B) Mg @ grg M, qan AR 91 B

e @ Ry fgda weem T @0

mfey |
C) AR s Tafem w8 & @ 9
IREd T § A AR o

WIqd &1 /Y

D) 16 3§ Q Pw 9§ & A A

afd Ao 2 o v Rl v T

o a9y HET AT st
E) wmq\éga:mmm%gﬁf":
& W g o g gl N

NI B YT o o i a6

WS, SR amem W oree X

W W W g e -

1) A SRR, Rt smdes 3w B AE
a1 gan o amdew wrﬂg’tém'w
Q'ﬂ ‘m St tl ';:"-‘_;-‘ ,




above, if applicant has NOT passed
9th, the application is referred to passport
cad Ofice.

Eabove, incase the old passport is lost,
1he application will be treated as a fresh
issue.

Based on these criteria-and information
provided befow, decide the course of
action in each case. You are NOT 1o
assume anything.

78 15-year-old Vijay was bom in the country,
hastheunique identity card, has NOT yet
passed his 12th and has his old passport.
Only his mother has a unique identity card,
but his father does NOT as he was NOT
bom in the country.

(A) Allot PassporL‘

(B) Reject Passport
(C) Refer to head office
(D) Data inadequate

79 2l-year-old Sam is marmried to Ritawho is
acitizen of the country. He has the required
affidavit for a fresh passport. He has the
unique identity cards both of himself as
wellas his wife.
(A) Allot Passport
) Reject Passport
(C) Refer 10 head office
{D) Data inadequate

go Seema has lost her old passport. She is 75
years old, was born outside the country
andshe docs NOT have the unique identity
card and is educated till the 10th. She has
the affidavit.

(A) Allol Pnssraort

(B);Rejcct Passpon

Q78

Q79

Q80

2) C 39d@, afd 3aTE ¥ $em TINEd!
oYl 78 @ 2 @ amdew gEaE
ge-femm & e oy &

3) E Sad@m, afe RET URme @ T
2 o AT B TG AHAT JHW AT |

A ey v 37 AASSl R IFEN) @
IR GR AT A & wdard) & Ay
& amg g Nt I a3m | A TE
A |

15 afig o & o= <74 g, S
U Afigda vEEE U3 R SS9 @
IES A Wer St FE A 8 @R
I U IBT QAT ITHAR & | Had
TEH #7 B oA IedT vewA v= 8
R fom @ o 98 & =S far @
T 39 < H T8 B3|
(A) g f&m S

(B) wreuié v fehar o

(C) 7@ Taiea & N W
(D) 3imewogia &

2 A F fae dmAgnd s
[ W e ¥ | WD T AT qrerd
3 0 oy 93 2| SwD Um [ W
agfe SHE qur SR g Fv Ay
Teud 99 B

L(l%) T fen W

) W e fFr

(C) T@ Taidn & N v
(D) @3 srvafy 2

M1 F1 QR A @Y R 8| IR 75
af B 2, IES T W B IR &N
T Swe arw ey TEEm o Té
T IHA W 10 9 a® W B
JFD TN IOY 9H B

(A) TrerE Ry omg

(B) 9 T f&m @w

(C) [cu wmafera aﬁ*mam
(D)mmﬁ




Q81 Which of the following answer figure  QBI frafafaa 8 & 17 W oaw Al
patterns ¢an complete the series given in e B e IMFI LRI coro B

FR FHAT 27
the question fipure?

N 4 N ©
A B (A) (B)
$ /] & /
(€)
C) - D (D)
Q82 Which of the following answer figure Q8 Prfarfn # a’:h w A Tt <
pattemns can complete the series given in Yoot s agfa # D T e 31
the question figure? : TR |EAT 87
N HTHE
@ [DOA @ 400D (A) DOAl A(B) AOD
b O
— . X .
b By 0
Q83 Why e :
: ’W:':r:l :Zem‘:‘::':::;vzl"?ber of lines Q83 @ ”ﬂé gl g9 @ fov . e et
, N image? IGRIT B Towa 27

LAY ‘2 ‘ »
sc) g




duch ol the answer figures is e right
3 1.1&:&‘0[‘1']0 gi\'cn fieure?

>
N =
1A) (B)
= ¢
=) =
(&) (D)
K >

» T P -
T e }

B6

A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it
will appear when opened.

i W

(A)

o/
D < DA é]
D4 D7 (

(€)

Arrange the following words as per their
order in an English dictionary and choose
the one that comes first. .

preview; pretence; prewqus;-fxrcnicr
(A) previcw (B)' prettier

(C) previous [mq

N s plnccd on the tine MN then

QR4 MR vos o ) et MN e vy ra 2

a’r&hﬁmma s
¥ iy #? i ¢

= [
@.

N = |
A) B
( & ();_ =
= &
©) D
g NP/ #
Q85 W= gfa ¥ R Raw FHR IR &
e B Bee AR 17w T &1
T$ Sew ARl ¥, 3 B F W
@3 T R ge @ Ra |
N4
By e
() PP, S
DA DA
© N vdl ©® N7
PP () D np (¢
Q86 ﬁﬂmmasrz‘faa‘rm:m'ﬁi;$

HATAR YW AR 9H = B gF oy
HIR TEA AT | ,
preview; pretence; prcvious;-‘:ﬁptﬁcrﬂ X e
(A) preview (B)- prettier :
(C) previous [ (D) pretence ]
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A qoncs is piven, with one word migsing.
Choose the correct alternative from the
given ones that w ill complete the series.
Retina, National, Algebra, Radiator, 9
(A) Annarel (B) Military

(C) Ordimary (1) Barometer

A series is given, with one term missing.
Choose the correet altemative from the
given ones that will complete the series.
FLED. HIL, NML, PQR, VUT, ?
GYIVADN (B) WXY

[OxZ] @ vxw

Q89 A series is given, with one word missing.

Choose the correct alternative from the
given ones that will complete the series.
ELECEEREFF. EEEEEEFEF,
EEEEEFEEF, EECEFEEEF,
EEEFEEEEF,? .

(A) EEFEEEEF _ (B) EEEFEEEFE
(C) CEFEEEEEF {(D) EEEFEEEEET

Q90 A series is given, with one number

missing. Choose the correet alternative
from the given ones that will complete the

serics.
-6.2,-35,-08,7,46
(A) 19 (B) 1.7

‘© TS (D)6

Q91 If the Sth day of a month is Wednesday,

which of the following would be the 2nd
day afier the 20th day of that month?

(D) Thursday
Q92 A series is given, with one lerm missing.
: .C'hoo§c the carrect altemative from the
BIVER ones that will complete the series.

AOFS. BYF6, DYGE, G217 7
(A} L4L8 J(LB K3LE .
- (0) KM _L_%—LL— o
Bl (D), LaM9

R s

e Y Y
RN | R o

8Ly

Q88

Q89

Q90

Q91

Q92

e s—

A ) A A T T QW R ey
Rreag) i @ S Rasa 3P &)
o g FRa B |
Retina, National, Algebra. Radiator 7 |
(A) Annarel _ (B) Military

(C) Ordinary (D) Barometer

A Mg AN A B TR A Ry g
Raa 1 ¥ St Res 3R & &b
T
FER, H1, NML, PQR, VUT, 7%,
(A) ZYX (B) WXY

(D) YXW

A g A A v I g & Rom
Frsedi 3 W SR e g o
&Y Yo7 FaT 8|

ELEEEELFF. EEEEEEFEF,
EEEEEFEEF, EELEFEEEF,
EEEFEEEER? .

(A) EEFEEEEF_ (B) EEEFEEEFE
(C) EEFEEEEEF | (D) EEEFEEEEEF

SR EICE R o AR R
e A afte Rew qft @ o
@ g FRAT B
-6.2,-3.5,-08,7,46

[a 19 ] (B) 1.7

iCy 1.5 (D) 1.6

IR R 7R T o P R g,
@ Prefefa # @ W e g8 80
& e ae q@w fA e’

(A) AR (B) IR

@ A & 7 &, Rred 0 w2 g9 ¢
fee ¢ REat A @ sfd Ao T8
-y 9of

AOF3, BIF6, DI1Gs, G217, 7

(A) LALS
(B) x3L8
A0 Kams TLAMS




a code language, 639 meqns ‘water is
Jink'. 316 means ‘juice is drink® and219
means “waler or juice’. Find the code for

‘or .
(A) 1
(D) 3

© 9

pt Ina certain code. RICH is written as 4279
and SNOW s written as 8396. How s
COIN written in that code?

(A) 4547 (B) 9035
(C) 1901 (D) 7923

95 Ifinacertain code language, “+ represents
“x,'~" represents ‘+°, * x represents ¢ .. *
and * =" represents ‘-’ Find out the answer
of the following question.

9-3+41 +6%x2=2
(B) 8
(D) 5

296 IFHELIPAD is coded as JGNKRCF, then
how will BUY be coded as?

(A) ACE (B) FHJ
(D) KMO

7 If A@ B means A is the grandson of
B, A # B means A is the wife of B and if
A * B means A is the father of B, then
whatdoes X * Y @ Z # W mean, if Z has
only 1 child? i

(A) W isthe mother of X

|(B) Wisthe fatherof X |

(C) X is the mother of W

(D) X is the father of W

2 AT

'ili 1f P % Q means P is the father of Q; P | Q
'z;, - mein_s P is the sister Qand P * Q means
= P is the daughter of Q, which of the

& following shows that | is the sister of K’s

e

Q96 ufé HELIPAD @1 JGNKRCF o

:JI ;hq@’ a ‘.d? ! "a-lll._ &

(AI%G!H*K |(B)I!G%H*K

(QI'G*H%K (D)I%G*H!'K

Q93 6 g W % 639 @ aef 8 ‘water is
drink’, 316 @7 aef & ‘juice is drink’ afik
219 %1 3k & ‘water or juice , ‘or~a

(A) 1 (B) 2
€) 9 (D) 3

Q94 fareit fadry gz # RICH @ 4279 foran
I 8 3R SNOW 1 8396 forar o
8 39 o 4 COIN &4 foran @mgm?
(A) 4547 (B) 9035 .
(C) 1901 (D) 7923

Q95 fabft Ry @ wmur # 4, ‘x* B WA
Hr &, -, B IR BT ®, “‘x’,
‘2P IR TR 8 AR e, @l
wa el ¢ | Frfafaa ge @1 ear
T B |
9-3+1 +6x2=7

(B) 8
(C) 26 (D) 5

T
7g fdar wmen B, @ BUY @ 39 3
ag fFar smen?
A) ACE
Q97 AR A@B#H 3k & 5 A, BT Ui &,
A#B@ 3 2 f5 A, BT ol & iR
gfe A*Bar ol 8 f5 A, Bo fam &,
WX*Y@ZH W qur anf 8 ol Z.,
& B 1 TF 87
(A) W, X @) 7 8
(B) W, X &1 fuar &

C) X, Wi 7 8
(D) X, W 1 R @

(B) FHJ
(D) KMO

Q98 uRk P% Qv 3l & f& P,QaT 3
P1Qr aref & f5 P, QM WBA
PeQa ef & 5 RQOT P B[
fr=farfaa A W Tuir & R LK

o ofy o weT &7 R G

(AI%G!H*K [(BI!'G%H*K

(OI'G*H%K (D)I%G*H!K

T
: ':;.:..ré;



e U NI Y an BT TRY GRUBNIET § (099 MA NG @wr, "y NN ad 4 (o
tather's mother 's son ' How is Norelated TR o N, M a4 d ".i"ll"!‘
o M E NS temale? N M Ua wfgen g2 L
A) N,M & ufey w1 a2
By N. M@ faar 8

(C) N, M T IR &

(D) N M T 43 B

V) N the brother of M's husband |
TS e lather of M

() N s the father-in-law ol M

LY N s the son of M

QIO e the followaing tigure, the square

repredents accountants, the trinngle

0100 Fr=ferfe smgfa %, 94 avament 4 4
guienr 8, Prys @amarl @ emhy
gt ASTTBRT B et 2 3R amamn

i &7 gaie & | A B B WY
I youl @I Sk & Sil_damn 27

tepresents antists, the cirele represents
planners andd the rectangle represents men.

Which set of letters represents men who
are artists?

Jd
: 1
] H
n A
E
E A ’
o)
(A) GH (B). GAF

3 (A) GH (B). GAF ‘(C) AB | (D) AC
a ) AB (D) AC

Q101 Which of the following Venn diagrams

Q101 Fr=ferfar % & B w1 M s TR,
best represents the relationship between -, YRa AR R @ w
Rajasthan, India and Asia?

e Y TR AW Skm B2
20 - & e

of (@




for a 6 tese scries 1o
b are for an entrince exam. He pogs
L progress as a line graph. The Ijne graph
Fws the marks he scored jn these 6 tests,
o how Many tests his name was fisied in
P Hall of Famie? (Those stydents who
score more than 40 get the honowr of
being listed in the Hall of Fame)

{2
010 10

' raph shows GDP for the year

| gg;!7t:zli:18b“;;ion UISD, of six f:ountn:g
which have unjeed lo form a free _tra{ g
block, GDP of which country ;otr;sm: 66
1/5th of the tgtal GDP of thes

countries?

Q102 & 813 my vden & Frd - fory

Q103

6 2 W & Rye s A 2 2
TE UF Y@l g @ w9 § I gl
e awvdr §) Y@ ANw ¥ 6 2T A
e fe T IwS siwl & gwa Ry
81 aifws @ § ga@! A 5 gl
A qdfieg R wan wr? (97 orE @
gl 3ifm o 4 qllag 8F @ wEr
frem @ fr=1R 40 @ 3 oid 9T fHT

50
!g a0 35 od
25

I(A) 2 [
(B) 1
{€) 3
(D) 4

9 IR@ a¥ 2017 @ AU o W
SR Y fafdaa st srer ¥ Rarar
& Gl TP o AR ife 399 & fw
THUe &1 fod 2y & NP 37 6 3t
@ F WL @1 1,/ 597 qr 82




104 Alloy 1 and alloy 2 are prepared by mixing
mictals A, £3,C and D The pic charts show
the propartions of these metals in the two
alloys.

If 1 kg of alloy ) and 2 kg of allay 2 is
melied and mixed, then the resulting alloy
will contain what mass of metal B?

Alloy 1 Ahoy 2
(A) 700g (B) 500g
(C) 70¢g (D) 50g

Q105 Which word does NOT belong with the

others?
3 (A) Blue (B) Green
A [ Paint | (DY Yellow

QI06 Find the odd letters from the given
alternatives.
[(AYGEC ]
(©) 0QS

(B) 1KM
(D) VXZ

Q107 Choose the figure which is different from

=1

————

®) /

M 1—l®

o ey

—

el
o ‘A. ¥
¥ L

Q104 fsl 1Y 1 IR Figt ag 2 AR,
C 3R D1 Rz w2 o &R Ry vr
?'ﬂmﬂﬁq $¢ q?ﬁﬂ@;}
% IU B AT §) \
aft 1 kg B O 1 ot 24g By gy |
zaﬁﬁuamm%mmﬁh |
T &, O gReTRR e B am
B &1 g9 f&a=n g

i ¥ um
"' -

g g1 FEagae

(B) 500 g
(D) 50¢

(A) 700g
. (C) 708

Q105 TS & T= FT TN | I T &7

() Fw. (B
[©F ] (D) drew

Q106 faw 7t Rl A 3 fws usk |
(A) GEC (B) 1KM
©) 0QS (D) VX2

Q107 ¥ ¥R} =1 g oY w1 Ffad |

I T 2
(AY |em—— J(B)
) =




we the fBUre which is dinerent from

rcif ng
INWE WM Q] nNnwll wWwma
(A) (Z)HMl(B) NHJ (A) Z HM[B) N H J
Loy~ 02T = o rell- 6z 7
HQZ M TI HQ Z M T I
© NOW(D) QzZo i N OW m (@ 20
| M T W N H I MT W N H

Q109 T R @1 7 &¥ o @t 0T 9
S a¥E wafdd ¢ Ri¥ ave gav 0w
qﬁﬁq&'ﬁ#ﬁiﬁﬁ@%l
BN : HREYT IS
(A) Fr [() v _%
(C) @G (D) &

0110 &% fIFe9 & 997 TN A g 95 °
¥l mF Al ¢ fare v 8V UT

0109 Select the alternative that is related to the
third termi in the same way as the sccond
term is related to the first term,
Necklace : Jewellery :: Pen: ?

(A) Papcr [ (B) Statromery 1§
(C) Writing (D) Book

Q110 Select the aliernative that is related to the
third teem in the same way as the second

i P
term is refaled to the first lerm. q’;’? ‘::91’( ;Wf?ﬂ: |

2196 ; 222744 2 7
196 : 169 ::2744 : 7 t
(A) 4277 (3) 2197 (A) 4277 I(8) 2197 l
(C) 2977 (D) 4192 (C) 2977 (D) 4192

QI @ T Sar g ¥ | 99 F &

Q111 From the given answer figures, sclect the

onc in which the question {igure ishidden/ 7 N (R g W fAfead &1
,_-mbcddud. ’ i |
&N
(A) | (B)
% (B)

VAT
A

| %
(©) <> <> (D)
& . (C)’*i ‘(‘D) : ES AT o ’A’A el -

' iy R, |, iy o Lt ‘-_,‘. Ve v $ -t ¢ .‘_“-',.
M‘- m%m&fﬁ'hﬂaﬂ-ﬁu o e e SR EIE I SIS




(D)

l ]A YHRHIWIE GiiD re sy

pattern in the question figure?

=
(A)
]
(B)
©
e (D)

Q113 Which of the following answer figure
patterns can be combined.to make the
question figure?

|
o

[
i

w FOEAF
@ Sbeg_gep
- \ i(}c)- EE EE:B

0 - :
(é g
D - .
: % (D) a]a‘_'lul -
1l . ;
¥ ) \‘.'L."._ ', N £, 4%y g
’ l“éﬁ o .;:6
Epr e
_79-;,'\ _nf

I[N YV LULIPIICIT UL

Q112 &1 M gaR

(A)

(B)

©

(D)

QM3 FraffEe 4 F #9 @ Iar agld @
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